(5) #RBRIEER - BEOME (FFI2F3 A KREA)
(7% :JR]

[7SEE S =21 JUIM it & K38
[%4 FUpN TR AR o U H B el B
X R OV e (R ) T2~ i s o FBI~F =] P =]~ X N~ Foti~ Rl R~ R
288.9km 6.3km 232.3km 462.6km 148.8km 66.1km
JIN~FENE (IH#3) B % H~i
49.3km (23.5km)
[&5t]
281.6km
L (mm) 1,435 1,067 1,067 1,067 1,067 1,067
BREC (4 7T) 11 - 96 109 40 23
R ko B () 66 2 21 131 30 3
50 X5 () 1,072 1 952 1,243 575 166
HEEE R EA = = 362 528 180 111
HoME - - - - - -
#5378 = = 7 9 5 4
AR - - 11 31 6 5
At = = 380 568 191 120
B R oD A7 A H H H H H H
5 B IR P <2k B1| B[] oD [ o 2 e H B PHZ < A B)PHZ < A B)PHZ < A B)PHZ < A B PHZ <
B1| B ch I 2 CTC (PRCH}) e CTC (PRCHF) CTC (PRCH}) CTC (PRCH}) CTC (PRCH})
B EIFHAE (R A () |ATCH LR B =X SR (FUp R | ATS-DK » 7 DA NG Rk ATS-DK » F P Z NG Arik = ATS-DK » 7 P Z NG Ar k= ATS-DK » 7 P Z NG Ar k= ATS-DK * 7 P Z NG Ar k=
ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK - Z5 & =
[pal AC 25,000V DC 1,500V AC 20,000V AC 20,000V AC 20,000V AC 20,000V [#~FE)11]
S S S S ER(FHEX) [Hr~Pr)2]
AR AR AR R 7S
R
T e e 260km/h 95.0km/h 130.0km/h 130.0km/h 130.0km/h 95.0km/h
FEHE 202.8km/h 63.0klm/h 97.6km/h(18% ~ X %) 97.6km/h(1§% ~ X %) 83.9km/h (1§ % ~RKI&) 58.0km/h (1% ~E7)
83.9km/h(f# 2~ RKlep) 69.8km/h (K5 ~ =)
61.9km/h(EF~ERSHR)
[ELHIER ORI [V B A e gkiE]
[EE2at PN/




(5) #RBRIEER - BEOME (FFI2F3 A KREA)
(7% :JR]

[7SEE S =21 JUIM it & K38
[%4 USN EAEAR Pt PRAR H Lk FUAEAR HEBERR
X R OV e (R ) U ESaP N REAR~ K5y PRI ~f A B~ TR~ R S~ A
141.5km 148.0km 48.8km 68.7km 42.6km 124.2km
AR~ {5 B
25.7km
[&5F]
68.3km
L (mm) 1,067 1,067 1,067 1,067 1,067 1,067
BREC (4 7T) 35 35 13 22 29 26
R R R () 29 38 6 17 15 55
50 X5 () 342 211 180 182 189 239
HEEE R EA 229 187 57 86 131 80
HoME - - - - - -
#5378 6 3 7 4 4 15
HATE 12 10 2 35 16 15
&t 247 200 66 125 151 110
B R oD A7 A H H H H H I
fFothisdn | e ek BB PR <X (WUE R %) BB E<AIRG~ FRME 535] | B#hEA2<X ek B BHEAE <2 (i [l ) 1 B P2 <R ik~ ] Rk A BEA T < (E 1 5)
Fiak B B P2 < (BB E]E) Bk BB <A (IR E) [ 1A~ (5 ]
B1| B ch I 2 CTC (PRCH}) CTC (PRCH}) CTC (PRCHF) CTC (PRCH}) CTC (PRCH}) e
B Eh S g 1k 2 (J520)  |ATS-DK - 7 V444 Sfn ik ATS-DK+ 7 VX NGBk ATS-DK+ 7 VX NGBk ATS-DK+ 7 VXN fF Bk ATS-DK+ 7 VX NG5 ik ATS-SK - 258 2
ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK - Z5 & =
@ih A AR AC 20,000V K53~ FHbE 545, A~ A#H] |AC 20,000V S DC 1,500V [ fE i~ ] PRIR
R % % R S R
AR AR R
TR e 95.0km/h 95.0km/h 95.0km/h 85.0km/h 85.0km/h 85.0km/h
FEHE 60.1km/h (1% ~ X %) 51.6km/h (BER~ X 5) 54.2km/h 34.0km/h G ~ VR H) 47.3km/h (SE;E~ FEiE) 43.2km/h (Fia~4EN)
40.6km/h (LUAR~FFE)
[ELHIER ORI [ fl i 228 = ]

I~ 4 ] 2




(5) #RBRIEER - BEOME (FFI2F3 A KREA)

(MI#%E: JR]

[7SEE S =21 JUIM it & K38
[%4 EHHDAR EHER FEHERR RASHR IR ST
X R OV e (R ) HRIR~ AR PE I~ 52 JAR R ~ P Fl ~ R FHE~HE) HHRE ~ )| 4 RS
61.6km 25.4km 42.5km 47.6km 25.1km 13.3km
L (mm) 1,067 1,067 1,067 1,067 1,067 1,067
BREC (4 7T) 15 14 12 11 9 4
R ) R AR (47T = = 2 9 4 1
50 X5 () 97 45 133 131 84 31
HEEE R EA 83 45 56 63 28 20
HoME - - - - - -
#5378 = = 1 1 - 2
AR 4 1 17 - - 5
At 87 46 74 64 28 27
B R oD A7 A 1 H H AR~ 72T LR ] H H
fFothisdn | e Rk B BPAC <R (B4 %) R F B <2 CBUB ) (7 P~ ) | [ T8 B2 < L P e ~ (L AR Rk HBPAC <R (B4 %) BB ek BB EA 2 <X (RuE R %)
BB k) BT ~T35] B2 <X (BUE R DA~ A1)
B A h I e CTC (PRCHH) CTC (PRCHH) e CTC (PRCHH) CTC (PRCHH)
51 B 1k 2k 2 (J520)  |ATS-SK- 28 J& 5 ATS-DK - 7 VA V4 B fmiba ATS-DK+ 7 U H VG H 54 ATS-DK+ 7 VX VG H 54 ATS-DK -+ 7 U H VG H 54 ATS-DK 7 PR VG H 5
ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK-Z 8= ATS-SK - Z5 & =
(b S EREENX DC 1,500V [ it~ phi ] AC 20,000V [ Huliz~ 727 R 2] |AC 20,000V TS
R % % S S R
AR AR AR R
TR e e 85.0km/h 85.0km/h 85.0km/h 95.0km/h 100.0km/h 85.0km/h
FEHE 43.0km/h 40.7km/h(P8 7=l ~FHE) 41.8km/h 54.9km/h 65.5km/h 49.9km/h
28.8km/h(FHE~F3%)
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(5) #RBRIEER - BEOME (FFI2F3 A KREA)
(7% :JR]

[7SEE S =21 Tl ekiE RE&E]
[%4 H R BT IRZEHERR =faf% FE1E PR AR
X R OV e (R ) P B WA~ A FH &5 ~ B WA ZE Pk Fr~=f UL B v e~ okl
88.9km 1.4km 25.6km 87.8km
L (mm) 1,067 1,067 1,067 1,067
BREC (4 7T) 27 1 8 35 575
R ko B () 25 = 2 12 468
50 X5 () 195 11 90 223 6,392
HEEE R EA 103 = 38 135 2,522
HoME - - - - -
#5378 4 = 3 3 78
HATE 36 - 3 13 222
&5t 143 - 44 151 2,822
B R oD A7 A A/ B ~ARAE] H b3 A BV S g~ 1)1l
fFothisdn | e Hek 1 B P <a (BUR ) (e~ 5 ] | Ak 1 A 2 < X (R [ ) Feik B B P2 < (15 ) ek B B P2 <A (BB R )
FeBk B BIEZ <R (BT ) [~ A )
B EAE R e CTC (PRCfH) CTC (PRCHH) e CTC (PRCHH)
B @y B k2 E % () [ATS-DK 7245 Bfa b ATS-DK - 7 VN4 Br{rika ATS-SK - 28 & ATS-DK+ F VA 45 Br{mik
ATS-SK-Z 8= ATS-SK-Z 52 ATS-SK«Z5 &
@7 AC 20,000V [ R =i~ %] AC 20,000V 7S PR
S % R AR
AR R
TR e e 85.0km/h 85.0km/h 85.0km/h 85.0km/h
FEHE 37.8km/h 42.0km/h 59.1km/h 53.8km/h (B V2 5 th sk ~FE45)
31.6km/h ($51& ~Hhlky)
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